FULESE KL 100 25 EELIASE L FREHm
A AGEE & AL H AT 92 A7 AR - B
HRHAE AW E ] BER : 80 442

MEEEARAA( 4 DR PEARBAR  BESHRAR > FRAASFHMRAEIHE- 2 ( 1 ) R

AAMATARAE > 85 100 4 -

- KA

—~BEM(BAL255)(25%)

1. HRT 5708 R B MR collagen 894477 (A) Hydroxyproline (B) Glycine (C)
Proline (D)4 k% &

2. A M phenylketonuria (PKU), T #|#f— B4l & 322 (A).5 % 48 R %] phenylalanine 3%
B (B) £ £ % phenylalanine hydroxylase # [4 £ 3 2(C)#2 phenylalanine & J& 4% 4% 8t 52,
Tryptophan # # (D)%% 42 W phenylpyruvic acid & X E#H &

3. % B glucose-alanine cycle, #FF M AEZHE AT H IR —EHH? (A)AL#HEEILE
B (B) A5 & 4% #H(C) ammonium /X, #H(D) nucleotide 4%, 34

4. 3 1 creatine #9474 ST F| AR UL R LB A B ? (A) Lys, Met,Arg (B) Cys, Glu, Gly (C)
Arg, Gly, Met (D) Met, Ser, Arg

5. # M GABA 844074 % 322 (A)d Glu 7 A(B)#& B Glu decarboxylase 48 1k 7% A%,
(C)1u 4 % B-aminobutyrate. (D)% —##rHl4¥ & T B9 E M F

6. T P\ 4ERx A B & 4 mr b7 % (serotonin)? (A)Glycine (B) Tyrosine (C) Tryptophan
(D) phenylalanine

7. RIE LA 0 B2 o F % (serotonin) € 5] A T FI4T ALK (A) B ILEB)EEEC)
¥ Sk i (DAL & 489

8. T #4748 % #: %k € 3| A2 Porphyrias (% & % 7&)? (A)Coproporphyrinogen oxidase
(B)Ferrochelatase (C) Uroporphyrinogen I synthase (D)3A L% 52

9. FE4r-E(Bilirubin) )& % A F & T 747488 % £ $22(A) UDP-Glucuronosyl transferase
(B) ALA synthase (C)Heme oxygenase (D) UDP-Glucuronosyl dehydrogenase

10.7F 34T #E 8% 5 4 2 & B 34 Alkaptonuria( Z B & )7 a2, 7(A) Homogentisate peroxidase

(B) Homogentisate oxidase (C) Homogentisate transaminase (D) Homogentisate
dehydrogenase
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1. FFMq4 £k ?
(A) #| A methotrexate % 4% A48 & DNA 4 s ik & (B) 5-fluouracil & adenine %813
Mo sAHp & (C) allopurinol ¥ 74 % 4 32 JRE (D) AZT(azido thymine triphosphate) =] #p
AL —BRsEE L

2. DNA replication B » 4] 2 L2 ?
(A) E. coli ¥ DNA polymerase | & % 47 proofreading (B) E. coli ¥ DNA polymerase

T 9T % RNA primer (C)helicase = 24} & torsional stress (D)DNA polymerase I &

%8 DNA
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3. ##F R-4# DNA polymerase, dATP, dTTP, dGTP, dCTP Ao T SI4TE T 2A & 15
template 3 DNA £ 3% 73 247 replication (I) % i DNA (II) £ DNA s &k 48 5 B i
Wk BigEa% 3 -OHgroup (UT) 2% DNA RRBRABE B4/ B BB BAH
3" -Phosphate group (IV) %32 DNA 3\ R 48 Z Bt B Baigas 3 -OH group
(V) %8 DNA D RA8 F B8 ey R %4544 3’ -Phosphate group (A)I+II (B)IT
+IV (C) II+V (D) II only .

4. A B 7 RNA polymerase 474 E# ? (I)sigma subunit £ $1 RNA elongation (I)RNA
polymerase II £-# {RNA 4~ (II) DnaA #} 85 RNA polymerase &4 4247 DNA &

%] (IV) Rho factor =] £ g2 RNA transcription termination
(A) only (B) II +III (C) X +IV (D)IV only

5. 47 7 %2 double strand repair ¥ 44 non-homologous end joint recombination ¢
(A)Rec A protein (B) Ku 70 (C) DNA-PK (D) DNA ligase

6. 1 R EFE?

(A) mismatch repair & 4 F &AL¥ = (B) base excision repair # DNA glycoslase %
1=(C) AP endonuclease £ #1 4 nucleotide excision repair (D)TT dimer = & nucleotide
excision repair 544

7. A B RNA 838 > 4754833 7

(A)R# mRNA &% poly-A tail (B)R % mRNA 4% splicing 5, & (C)RNA
transcription 7 § £ 4 primerase ¥ (D)5’ -capping €% 4 £ mRNA L+

8. T ZI47 % 7T sAB5EL /b RNA polymerase IT # C-terminal domain ?

(A) DNA-PK (B) transcription factor II H (C) TATA box binding protein (D)DnaB

9. MERRBKBAFAREE ?

(A)PAPP synthetase 7% 143 4u(B)PRPP synthetase % & # & & 44414 B (Cluric acid
¥ (D)L R % 4 purine R4

1043 8 F Fi4T 740 & T 453 DNA K #89& ? (A)CO2+NH4 (B)xanthine (C)

B-aminoisobutyrate (D) -alanine

s
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1. FF 3L EMB T4 cAMP & cGMP R 4of] & & 84(5%) » 4B EmEHB £ B RE
(5%) ?

% 4] oncogene #4958 & A 17(3%) ? HAERREHF(696) » LR TIMEH 64 A=
RERAT(6%6) 7

N
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1. Which of the following DNA sequences contains a 4~8 base palindromic site? (Note:

Only one strand is shown.)
(A) CAGTCC D)GAGAGAGA (B) GCATCC E)GCATATGC

(C) CGATTAGC (D) GCATATGC

2. What do Southern, Northern, and Western blots detect, respectively?
(A) DNA, RNA, and protein (B) protein, DNA, and RNA

(C) DNA, protein, and RNA (D) RNA, protein, and DNA

3. Why are met and trp often used to design DNA probes from amino acid sequences?
(A) They are not degenerate and have single codons.  (B) Met is the first amino acid in
the protein chain.  (C) Both are used often in proteins. (D) All of the above.

4. How many molecules thick are membranes?
(A) two (B)one (C) infinite (D) varying thickness, depending on structure

5. Which of the following membranes would be the most fluid?
(A) a bilayer made of lipids with polyunsaturated 18 carbon-fatty acids
(B) a bilayer made of lipids with saturated 18 carbon-fatty acids
(C) a bilayer made of lipids with saturated 16 carbon-fatty acids
(D) a bilayer made of lipids with polyunsaturated 16 carbon-fatty acids

6. Which is the proper order of permeability of molecules across a membrane, from the
most permeable to the least?

(A) ethanol, water, glucose, urea  (B) ethanol, water, urea, glucose

(C) water, ethanol, glucose, urea (D) water, ethanol, urea, glucose

7. Operator constitutive mutants of the lac operon would

(A) express the lac repressor constitutively (B) block the binding of RNA polymerase
to the promoter (C) express B-galactosidase constitutively (D) prevent the
inducer from binding to the repressor
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f 8. Which codon serves as the start codon in mRNA for translation?
(A)AGU (B) AUG (C) UGA (D) UGG

9. An enhancer (A) is a DNA element that stimulates transcription of eukaryotic
promoters  (B) binds to RNA polymerase and stimulates transcription (C)actsas a

binding site for RNA polymerase (D) interacts with repressor proteins to enhance
[transcriptional repression

0. Lipid soluble hormones activate transcription by
{A) binding to specific cell-surface receptors (B) phosphorylating a protein kinase
(C) binding to a nuclear receptor (D) inhibiting a histone deacetylase

111. If the following is a template strand of DNA in a gene, what would the mRNA sequence
. be.  5-CGTTATTCGGGCCTAATAACTC-3'

(A) 5'-GCAAUAAGCCCGGAUUAUUGUG-3'

(B) S~GAGUUAUUAGGCCCGAAUAACG-3'

(C) 5'-GCAATAAGCCCGGATTATTGAG-3'

1(D) 5-GAGTTATTAGGCCCGAATAACG-3'

12. We’ve talked about how homo- and heteropolymers were used to decipher the genetic
code. A synthetic MRNA was produced with the sequence ...GUGUGUGU... and specified
the incorporation of valine and cysteine.

Another mRNA with the sequence ...GGUGGUGGU... specified glycine, valine, and
ftryptophan. Which triplet can definitely be assigned to valine?

(A) GUG (B) UGU (C) GGU D) UGG




